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Homework:  3 Sides of a Triangle



Mr. Lynch

Circle the correct answer for each of the following:
1) 2 sides of a triangle measure 3 and 11.  Which can be the third side of the triangle?

a) 5


b) 3


c) 8


d) 12


2) 2 sides of a triangle measure 6 and 14.  Which cannot be the third side of the triangle?


a) 8


b) 9


c) 10


d) 11


3) 2 sides of a triangle measure 15 and 18.  Which cannot be the third side of the triangle?


a) 2


b) 4


c) 6


d) 8


4) 2 sides of a triangle measure 64 and 162.  Which can be the third side of the triangle?


a) 96


b) 98


c) 96.5


d) 98.5


5) 2 sides of a triangle measure 14 and 174.  Which can be the third side of the triangle?


a) 169


b) 160


c) 168


d) 170

Prove whether or not the following can represent the sides of a triangle:
6) 6,42,48


7) 7,12,13


8) 6,82,88

9) 9,7,16


10) 9,40,41


11) 801,804,888
